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Paper : BC-404

( Corporate Accounting )

Full Marks : 70 Pass Marks : 45%

Time : 3 hours

( PART : B—DESCRIPTIVE )
( Marks : 45)

The figures in the margin indicate full marks
for the questions

1. (@) What is meant by redemption of
debentures? Explain the sources of
finance for the redemption of
debentures. 3+6=9

Or
(b) JK Ltd. issued 10000 shares of ¥100

each at a premium of ¥ 20 each. Amount
payable there on as under :

On Application—% 30

On Allotment—? 70

(including premium)
On 1st Call and Final Call—¥ 20
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(2)

Applications were received for 15000
shares. Only 12000 shares were allotted
on pro-rata basis. 3000 shares were
rejected and their amount was
returned. All the calls were made and
money received in full except on 100
shares in last call. All the unpaid shares
were forfeited after legal formalities.
Forfeited shares were re-issued at
¥90 each.

Pass the necessary Journal entries to
give the above effect. 9

2. (@) What is divisible profit? Distinguish
between Capital Reserve and General
Reserve. 2+7=9

Or

(b) Following is the Trial Balance of
XYZ Ltd. as at 31st March, 2020 :

Debit Balances 4 Credit Balances 4
Opening Stock 1,50,000 Equity Share Capital 5,00,000
Purchases 3,80,000 Purchase Return 10,000
Wages 60,000 Sales 11,50,000
Carriages 2,000 Discount 6,300
Furniture 25,000 Surplus Account 1,70,000
Salaries 12,000 Sundry Creditors 33,700
Rent 15,000 General Reserve 82,000
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(3) (4)

Debit Balances T Credit Balances 4 Or

Trade Expenses 11,000 Bills Payable 13,000 (b) The Bekar Foods Ltd. went into voluntary

Sundry Debt 54,000 Provisi f .. .
Pll.zltan de ors ;::ﬁiﬁﬁl ([)>rebts 3.000 liquidation on 31st December, 2019. The
Machinery 12.00.000 ’ balances in its books on that date were as
Cash at Bank 21,500 follows :
Patents 9,000 Balance Sheet as at 31st December, 2019
Bills Receivable 14,000 ¢
Bad Debts 6.500 I. Equity and Liabilities :
. ’ 1. Shareholders’ Fund :
Discount Allowed 8,000 (a) Share Capital :
19,68,000 19,68,000 5000, 6% Cumulative Preference Shares
of ¥ 100 each fully paid 5,00,000
Additional Information : 2500 Equity Shares of & 100 each,
. T 75 paid 1,87,500
() Stock on 31st March, 2020 7500 Equity Shares of & 100 each,
¥2,00,000 % 60 paid 4,50,000

(b) Reserve and Surplus (Profit & Loss—Loss) (3,00,000)
2. Non-Current Liabilities :

(ii) Depreciate Plant and Machinery at
12%, Furniture at 10% and Patents

Long-term Borrowings

at 20% 5% Mortgage Debenture 2,50,000
3. Current Liabilities :
(iii) Further Bad Debts amounted to Trade Payable—Creditors 3.62,500
¥4,000. Provide 5% on debtors for Other Current Liabilities :
Bad Debts Interest Outstanding 12,500
Total Equity and Liabilities 14,62,500
(iv) Provide for income tax @ 35% and II. Assets : —
for corporate dividend tax @ 14% 1. Fixed Assets :
(a) Tangible Assets :
Prepare Statement of Profit and Loss for Land and Building 2,50,000
the year ended 31st March, 2020. 9 Plant and Machinery 6,25,000
(b) Intangible Assets :
Patent 1,00,000
3. (a) What is liquidator’s Final Statement of 2. Current Assets :
Account? Explain the preferential Inventory (Stock) 1,37,500
creditors as given under the Indian Trade Receivable (Debtors) 2,75,000
. Cash and Cash Equivalent 75,000
Companies Act, 2013. 4+5=9 Total 14,62,500
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(@

(b)
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(S5)

The liquidator is entitled to commission
of 3% on all assets realized except cash
and 2% on amounts distributed among
unsecured  creditors other  than
preferential creditors. Creditors include
preferential creditors ¥37,500 and a
loan for ¢1,25,000 secured by a
mortgage on land and buildings. The
preference dividends were in arrears for
two years. The assets realized are as
follows :

¢
Land and Building 3,00,000
Machinery and Plant 5,00,000
Patents 75,000
Stock 1,50,000
Sundry Debtors 2,00,000

The expenses of liquidation amounted
to ¥27,250. Prepare the liquidator’s
Final Statement of Account.

What are the different methods of
valuation of shares? Explain.

Or

A client intends to invest 15,000 in
equity shares of a limited company and
wants you to calculate the maximum
number of shares he can expect to
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(@)

(b)
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(6)

acquire with the said amount on the
basis of the following information
available :

Issued and Paid-up Capital :

6% Preference Shares of

¥ 100 each 5,00,000
Equity Shares of

¥ 10 each 3,00,000

8,00,000

Average net profit of the business is
¥57,000. Expected normal yield is 7%
in case of such Equity Shares. Total
Tangible Assets (other than Goodwill) is
¥9,49,000 and Total Outside Liabilities
is £95,000. Goodwill is to be calculated
at 5 years’ purchase of the superprofits,
if any. Show your workings in detail.
Ignore income tax.

Explain the term ‘internal
reconstruction’ or ‘capital reduction’.
Discuss the procedure for reducing

share capital. S5+4=9

Or

Write down the necessary Journal
entries to be passed in the book of
Transferor Company.
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